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i
i
i A4
( 1.1 m 47=0%E)
4 g iR NI MR g =1 =V B % &
EAE T L Co, t=15cnPA F 2.00 X 1.1 m 2.9
SR I i T Co, t=10cm 0.60 X 1.1 m? 0.7
o T Hetk WHE A+ 0.60 X 1.025 X 1.1 m® 0.7
HHEL T RC-40 0.60 X 0935 X 1.1 m® 0.6
MY RELL WAL
HOHRLT W
WEER R R
7 sy WHE 1+ 0.70 — 0.00 = 0.9 m® 0.7
FRU e Co 060 X 0.10 X 1.1 m® 0.07
PRy 2 Co m® 0.07
TG URIENE - 25> T 0.023 X 0.10 X 22 m’| 0.010
A% T
AR AS(13)
FEIRT t=3cm 0.60 X 1.1 m? 0.7
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+ T % & £
+TH7° | 11— HiiE As SUS ¢ 100 DP=1.00m
+ TR L= 1.1 = 1.1 m
W P>
BEE%As t=3cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
S N v S
I RAET
| RC-40 3
!
i
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM ~ DP_ | +-#0 | 1.000
; RC-40 < H | #miliE] 1125
i H2 | #EAE| 1.095
! h2  [HREH] 0.935
i
i
i
=
( 1.1 m 47=0%E)
4 b iR NI MR g =1 =V B % &
SfEEEINT 1T As, t=15cmPA T
A f Fi e T As, t=10cmPL F 0.60 X 1.1 m? 0.7
o T Hetk WHE A+ 0.60 X 1.095 X 1.1 m® 0.7
HHEL T RC-40 0.60 X 0935 X 1.1 m® 0.6
MY RELL WAL
HOHRLT W
WEER R R
7 sy e+ 0.70 — = 09 m® 0.7
FRU e As 0.60 X 0.03 X 1.1 m® 0.02
PRy 2 As m® 0.02
TEYETER - ALy T
B T RC-40, t=16cm 0.60 X 1.1 m? 0.7
AR AS(13)
FEIRT t=3cm 0.60 X 1.1 m? 0.7
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+TAa47° | 1-28E% il Co SUS ¢ 100 DP=0.90m
+ TR L= 0.6 = 0.6 m
W P>
BEE%Co t=10cm JEH | BE REIH BEZFHiAs t=3cm
-\ %
o
=] Y v S
' BREET ‘
| RC-40 3
!
i
i W | #EEIfE[  0.600
i a DI [&E4ME[ 0.125
=| = IR 1ERM | = DP_ | 140 | 0.900
2 RC-40 < H | #milizE] 1.025
i H1 | #EAE|  0.925
! hl [#RE#] 0.835
i
i
i A4
( 0.6 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
EAE T L Co, t=15cnPA F 2.00 X 0.6 m 1.2
SR I i T Co, t=10cm 0.60 X 0.6 m? 0.4
o T Hetk WHE A+ 0.60 X 0.925 X 0.6 m® 0.3
HHEL T RC-40 0.60 X 0835 X 0.6 m® 0.3
MY RELL WAL
HOHRLT W
WEER R R
B sy e+ 0.30 — 0.00 -+ 0.9 m® 0.3
FRU e Co 0.60 X 0.10 X 0.6 m® 0.04
PRy 2 Co m® 0.04
TG URIENE - 25> T 0.023 X 0.10 X 1.2 m®| 0.003
A% T
AR AS(13)
FEIRT t=3cm 0.60 X 0.6 m? 0.4
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+ T % & £
a7 | 1-odE il As SUS ¢ 100 DP=0.90m
+ TR L= 0.6 = 0.6 m
W P>
BEE%As t=3cm EH | BRE RIEIR BAEZFHIAs t=3cm
- —t
S N % S
I RAET
| RC-40 3
|
i
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM ~ DP_ | 140 | 0.900
2 RC-40 < H | #milizE] 1.025
i H2 | #EAI&E|  0.995
! h2 [HREH] 0.835
i
i
i
=
( 0.6 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
SfEEEINT 1T As, t=15cmPA T
A f Fi e T As, t=10cmPL F 0.60 X 0.6 m? 0.4
o T Hetk WHE A+ 0.60 X 0.995 X 0.6 m® 0.4
HHEL T RC-40 0.60 X 0835 X 0.6 m® 0.3
MY RELL WAL
HOHRLT W
WEER R R
7 sy WHE 1+ 0.40 — = 09 m® 0.4
FRU e As 0.60 X 0.03 X 0.6 m® 0.01
PRy 2 As m® 0.01
TEYETER - ALy T
B T RC-40, t=16cm 0.60 X 0.6 m? 0.4
AR AS(13)
FEIRT t=3cm 0.60 X 0.6 m? 0.4
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+ T % & %

+TAa7° | 2-18EE% mi#E G SUS ¢ 100 DP=0.30m
+ Tt & L= 2.0 = 2.0 m
W P>
1EHl | BR
—t
i y
i
i
i
i
|
i W | #EEIfE[  0.600
i a DI [&E4ME[ 0.125
e IR 1ERM | ° DP_ | 40| 0.300
2 RC-40 < H | #milE] 0.425
i hl || 0.425
|
i
i
i
i A
( 2.0 m %7=v¥E)
4 g iR NI MR g =1 =V B % &
ARG T As, t=15cmPA T
SR RRUIRIE T As, t=10cmLL T
o T Hetk WHE A+ 0.60 X 0.425 X 2.0 m® 0.5
HHEL T RC-40 0.60 X 0425 X 2.0 m® 0.5
HHRLT Nibac s
HOHRLT W
WEER R R
7 sy WE+ 0.50 — 0.00 0.9 m® 0.5
e As
I As
TEYETER - ALy T
A% T
AR AS(13)
FEIRT t=3cm 0.60 X 2.0 m? 1.2
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+ T % & %

+TAa47° | 2-1zE mi#E G SUS ¢ 100 DP=0.30m
+ Tt & L= 2.0 = 2.0 m
W P>
1EHl | BR
—t
i
i
i
i
i
|
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= ° IR 1ERM ~ DP_ | 40| 0.300
2 RC-40 < H | #milE] 0.425
i H2 | #RAIE|  0.425
! h2  [HREH] 0.425
i
i
i
=
( 2.0 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ARG T As, t=15cmPA T
SR EUE T As, t=10cmPL F
o T Hetk WHE A+ 0.60 X 0.425 X 2.0 m® 0.5
HHEL T RC-40 0.60 X 0425 X 2.0 m® 0.5
HHRLT Nibac s
HOHRLT W
WL R R
B sy e+ 050 — ~ 09 m® 0.5
e As
I As
TEYETER - ALy T
B T RC-40, t=16cm 0.60 X 2.0 m? 1.2
AR AS(13)
FEIRT t=3cm 0.60 X 2.0 m? 1.2
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2T X HPE ¢ 100 BH(AKH)
4 W . s B K O H K OBk
[&#4]
T

EF%Z OfHEE $ 100 2 2 ZN

EF7/ L —y o NEE ¢ 100 3 3 ZN
¢ 100

EFF &~ R 45° 4 4 &
¢ 100

EFfi sz~ R 45° 1 1 &
¢ 100

i 221/2° 2 2 1

EFY/rvh ¢ 100 1 1 &

~—h— it 5 5 | #

PVZaAfr b ¢ 100 2 2 &

FIHRY —h TNEAMEL | 225 225 m
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9¢

HPE ¢ 100mm
HPE ¢ 100| HPE ¢ 100| HPE ¢ 100 EF |pEffnft] vore—n EFAZ UK EFfiZ N8 EF EF EF PP | A4 AWk AWk EF | EF | PV MfiRER
HZAS HOE o) M5z BREKEL wwm oo 90° | 45° | 22° | 11° 0 90° | 45° | 22° | 11° | W% | Wit | AR vareh vV WUEE fSFR| Yok ®vv7 vath (BE)
EHE | (m | (n) F—X| TFHR | Fiffid /2 | 1/4 1/2 | 1/4 F—RX F2H)| SR et VP
() o100x0100 | 41003675 h 100 | ¢ 100 | ¢ 100| ¢ 100 ¢ 100 ¢ 100 | ¢ 100 | ¢ 100 ¢ 100 |s100x 610 |e100x 6100 | 100xk300 5 100| ¢ 100 ¢ 100 ¢ 100 ¢ 100 ¢ 100| ¢ 100
1=5.0m B oy (fiH) () (i) (1) (i) (1) (i) (1) (i) (1) (i) (1) ) | dE) | @ = | fE L dE) =) | fE)
1
3.50 1 3.78
0.40 4.18
1 1 9.18
3.50 1 13.06
0.80 2 1 15.11
1.80 2 17.88
1 1 22.88
B 2.0 10.00 4 1 2 1 2
25 5 0.3]  0.79 0.86] 0.555| 0.485 0.400] 0.400] 0.445] 0.375 0.280] 0.280] 0.134 0.3 0.91 Ak T.
SER 10 10.00 1.94 0.375|  0.56 L= 22.88




L2

b E H E
HPE ¢ 100 ( L =5.00m/ A& )
HEE < 9] E K| U L8 El R e & A |G T RE E
m NGl P i =) m m NGl P i =) m
3.50 1 1 1.50
3.50 0.40 0.80 1 3 0.30
1.80 1 1 3.20
3 5 5.00 G




2T.X HPE ¢ 100

FrBRR)

N y T
& B ik e B K U S Bk
[55%])
RUFL T3 T 6100 22.9 229 |'m
BER
ARY=F L ZY W T ¢ 100 5 + 5 =]
B [i54=l] FZAUR WEAVE FESNUY Yok Fyys
B AT T ¢ 100 2+ + 4+ 6 + + 2+ 14 | f4T
PVVaArb
AH=F VT ¢ 100 4 4 5]
¢ 100
BITRY—h T 22.5 225 | m
EmMET 100A 11.60 11.6 m
11.6/6+1
BERCE Dl T 100A 3 3 .
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[2 TX]XE# T

& e R e WoR
[7#]
L A | MR MU
X HHRER & 15cm 1.2 + 1.2 2.4 m
LR At | ik
30cm 3.0 3.0 m
SR | e
15cm 1.2 1.2 m
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0¢

2T (AR TITHEHHEE

& R ————R A | B
S AL BT T As, t=15ecmLA F 16.0 6.2 1.4 16.6 4.2 16.0 7.2 67.6 | m
BHAERRUIEE T | As, t=10cmPL F 4.8 1.9 0.4 5.0 1.3 4.8 2.2 20.4 | m®
I T bk e+ 4.9 2.0 0.6 5.4 1.7 4.2 2.0 20.8 [ m®
B RL T RC-40 1.2 0.9 0.3 2.0 0.9 3.0 1.8 10.1 | m®
B REL T 1w 2.4 0.9 0.2 2.5 0.6 6.6 | m®
sy WE 1 4.9 2.0 0.6 5.4 1.7 4.2 2.0 20.8 | m®
ST 4.9 2.0 0.6 5.4 1.7 4.2 2.0 20.8 | m®
PR ALER As 0.5 0.1 0.02 0.2 0.1 0.5 0.1 1.52 | m’
FEHLAL # As 0.5 0.1 0.02 0.2 0.1 0.5 0.1 1.52 | m’
5 R - L5y T 0.04 0.01 0.001 0.02 0.04 0.01 0.121 | m®
BEAR T RC-40, t=16cm 5.0 1.3 6.3 | m*
FEAE T RC-40, t=10cm 1.9 0.4 2.2 4.5 | m®
AT M-30, t=15cm 4.8 4.8 9.6 [ m®
TE AR T RC-40, t=14cm 4.8 4.8 9.6 [ m®

HOE
A IR T FAEERIEAS(13) t=3cm 4.8 1.9 0.4 5.0 1.3 4.8 2.2 20.4 | m*




+ T % & %

+TH47° 2-1 BIEHIE As HPE ¢ 100 DP=0.90m
+ TR L= 8.0 = 8.0 m
BEE%As t=10cm JEH | BE REIH BEZFHiAs t=5cm
-\ %
N =l
2 | '
- :J:Eﬂ%%l 2
i M-30 -
:TE%%I =
i RC-40 -
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 [#mieE] 1125
i H2 | #EAIE| 1.025
BB hl | HEEA| 0.260
iz—t h |# &] 0525
I o
i S
| —
| 5| =
—
i S
! A4
\ ¢D
( 8.0 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 8.0 m 16.0
A f Fi e T As, t=10cmPL F 0.60 X 8.0 m? 4.8
o T Hetk WHE A+ 0.60 X 1.025 X 8.0 m® 4.9
HHEL T RC-40 0.60 X 0260 X 8.0 m® 1.2
MY RELL WAL
HHRELT w ( 0.60 X 0525 — 0.125 2 X x,/4)X 8.0 m® 2.4
WEER R R
7 - hsy WE+ 4.90 — = 09 m® 4.9
FRU e As 0.60 X 0.10 X 8.0 m® 0.5
TS B As m® 0.5
TG URIENE - 25> T 0.023 X 0.10 X 16.0 m® 0.04
g BT M-30, t=15cm 0.60 X 8.0 m? 4.8
g g T RC-40, t=14cm 0.60 X 8.0 m? 4.8
HAERIEAs(13)
FEIRT t=5cm 0.60 X 8.0 m* 4.8
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+ T % & %

+TAa47° 3-1 BIEAE As HPE ¢ 100 DP=0.90m
+ TR L= 1.3 +1.8 = 3.1 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 8
|
i A
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= 2 ° IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HREIZE 1125
i H2 | #EHIE| 1.085
LS hl  |#5EH| 0.470
iz—t V h |[# & 0525
I o
| o
Bl —
| 5| =
—
o
i Sy oy
!
\ ¢D
( 3.1 m %H7=viE)
4 g ViR N MR g = =V B % &
ERAL T T As, t=15cmPA T 2.00 X 3.1 m 6.2
A f Fi e T As, t=10cmPL F 0.60 X 3.1 m? 1.9
o T Hetk WHE A+ 0.60 X 1.085 X 3.1 m® 2.0
HHEL T RC-40 0.60 X 0470 X 3.1 m® 0.9
MY RELL WAL
HHRELT w ( 0.60 X 0525 — 0.125 2 X x,/4)x 3.1 m® 0.9
WEER R R
B sy e+ 2.00 — ~ 09 m® 2.0
FRULALER As 0.60 X 0.04 X 3.1 m® 0.1
TS B As m® 0.1
TG URIENE - 25> T 0.023 X 0.04 X 6.2 m® 0.01
B T RC-40, t=10cm 0.60 X 3.1 m? 1.9
AR AS(13)
FEIRT t=3cm 0.60 X 3.1 m? 1.9
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+ T % & %

+TAa47° 3-2 BIEAE As HPE ¢ 100 DP=1.20m
+ TR L= 0.7 = 0.7 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
< N % I
i BRAET
| RC-40 8
|
i
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 [#mieE]  1.425
i H2 | #EHI&E| 1.385
BB hl | HE| 0.770
iz—t h |# &] 0525
I o
i S
| —
| E -
—
o
i =3
!
\ @D
( 0.7 m %7=v¥E)
4 g ViR N MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 0.7 m 1.4
A f Fi e T As, t=10cmPL F 0.60 X 0.7 m? 0.4
o T Hetk WHE A+ 0.60 X 1.385 X 0.7 m® 0.6
HHEL T RC-40 0.60 X 0.770 X 0.7 m® 0.3
MY RELL WAL
HHRELT w ( 0.60 X 0525 — 0.125 2 X x,/4)X 0.7 m® 0.2
WEER R R
7 sy e+ 0.60 — = 09 m® 0.6
FRULALER As 0.60 X 0.04 X 0.7 m® 0.02
PRy 2 As m® 0.02
TG URIENE - 25> T 0.023 X 004 X 1.4 m’| 0.001
B T RC-40, t=10cm 0.60 X 0.7 m? 0.4
AR AS(13)
FEIRT t=3cm 0.60 X 0.7 m? 0.4
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+ T % & %

+TH47° 4-1 MEHE As HPE ¢ 100 DP=0.90m
+ TR L= 5.2 +3.1 = 8.3 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
|
i A
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= 2 ° IR 1ERM — DP_ | 140 | 0.900
; RC-40 < H1 | HREIZE 1125
i H2 | #EHIE| 1.085
BB hl | HEH| 0.410
iz—t V h |[# & 0525
I o
! S
~N B T f
1 a| <
—
i S
! A4 y
\ ¢D
( 8.3 m H7=viE)
4 b iR NI MR g = =V B % &
ERAL T T As, t=15cmPA T 2.00 X 83 m 16.6
A f Fi e T As, t=10cmPL F 0.60 X 8.3 m? 5.0
o T Hetk WHE A+ 0.60 X 1.085 X 8.3 m® 5.4
HHEL T RC-40 0.60 X 0.410 X 8.3 m® 2.0
MY RELL i
HHRELT W ( 0.60 X 0525 — 0.125 2 X x,/4)X 8.3 m® 2.5
WEER R R
7 sy e+ 5.40 — ~ 09 m® 5.4
FRU e As 0.60 X 0.04 X 8.3 m® 0.2
S E As m® 0.2
TG URIENE - 25> T 0.023 X 0.04 X 16.6 m® 0.02
B T RC-40, t=16cm 0.60 X 8.3 m? 5.0
AR AS(13)
FEIRT t=3cm 0.60 X 83 m? 5.0
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+ T % & %

+TH47° 4-2 MEHE As HPE ¢ 100 DP=1.20m
+ TIER L= 2.1 = 21 m
W P>
BEE%As t=4cm 1EHl | BR RIEIR BAEZFHIAs t=3cm
- —t
g N % 8
i BRAET I
| RC-40 3
|
i A
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= 2 ° IR 1ERM — DP_ | 40| 1.200
; RC-40 < H1 [#mieE]  1.425
i H2 | #EHI&E| 1.385
BB hl | HEEH| 0.710
iz—t V h |[# & 0525
I o
| o
Bl —
| 5| =
—
i S
! A4 y
\ ¢D
( 2.1 m %7=v¥E)
4 b ViR N MR g = =V B % &
ERAL T T As, t=15cmPA T 2.00 X 2.1 m 1.9
A f Fi e T As, t=10cmPL F 0.60 X 2.1 m? 1.3
o T Hetk WHE A+ 0.60 X 1.385 X 2.1 m® 1.7
HHEL T RC-40 0.60 X 0710 X 2.1 m® 0.9
MY RELL i
HHRELT W ( 0.60 X 0525 — 0.125 2 X x,/4)x 2.1 m® 0.6
WEER R R
B sy e+ .70 — ~ 09 m® 1.7
FRULALER As 0.60 X 0.04 X 2.1 m® 0.1
TS B As m® 0.1
TG URIENE - 25> T 0.023 X 0.04 X 4.2 m® 0.00
B T RC-40, t=16cm 0.60 X 2.1 m? 1.3
AR AS(13)
FEIRT t=3cm 0.60 X 2.1 m? 1.3
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+ T % & £
+TH47° 5-1 BIEHIE As SGP ¢ 100 DP=0.85m
+ TIER L= 8.0 = 8.0 m
BEE%As t=10cm HEHl | BR REIH BEZFHiAs t=5cm
-\ %
N =l
2 | '
- EJ:EE%%I uoj‘
1 M-30 = |
| TR T g‘
i RC-40 = |
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM — DP_ | 40| 0.850
; RC-40 < H1 [#mizE] 0.975
i H2 | #EHI&E| 0.875
! hl [H#REH] 0.635
i
i
i
‘_u C
(=) | v
! v
#D
( 8.0 m %7=v¥E)
4 b iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 8.0 m 16.0
A f Fi e T As, t=10cmPL F 0.60 X 8.0 m? 4.8
o T Hetk WHE A+ 0.60 X 0875 X 8.0 m® 4.2
HHEL T RC-40 0.60 X 0635 X 8.0 m® 3.0
MY RELL i
HOHRLT W
WEER R R
7 - hsy WE+ 4.20 — = 09 m® 4.2
FRU e As 0.60 X 0.10 X 8.0 m® 0.5
TS B As m® 0.5
TG URIENE - 25> T 0.023 X 0.10 X 16.0 m® 0.04
g g T M-30, t=15cm 0.60 X 8.0 m? 4.8
g g T RC-40, t=14cm 0.60 X 8.0 m? 4.8
HAERIEAs(13)
FEIRT t=5cm 0.60 X 8.0 m* 4.8
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+ T % & %

+TAa47° 6-1 BIEAE As SGP ¢ 100 DP=0.85m
+ TR L= 1.8 +1.8 = 3.6 m
W P>
BEE%As t=4cm EH | BRE RIEIR BAEZFHIAs t=3cm
— %
g N % 8
i BRAET
| RC-40 8
!
i
i W | #EEIfE[  0.600
a i DI [&E4ME[ 0.125
= £ e IR 1ERM — DP_ | 40| 0.850
i RC-40 < H1 [#mizE] 0.975
i H2 | #EHIE] 0.935
| hl [#REF] 0.845
i
i
i
‘_u C
a [
( 3.6 m %H7=viE)
4 g iR NI MR g =1 =V B % &
ERAL T T As, t=15cmPA T 2.00 X 3.6 m 7.9
A f Fi e T As, t=10cmPL F 0.60 X 3.6 m? 2.2
o T Hetk WHE A+ 0.60 X 0935 X 3.6 m® 2.0
HHEL T RC-40 0.60 X 0845 X 3.6 m® 1.8
MY RELL WAL
HOHRLT W
WEER R R
7 sy e+ 2.00 — = 09 m® 2.0
FRU e As 0.60 X 0.04 X 3.6 m® 0.1
TS B As m® 0.1
TG URIENE - 25> T 0.023 X 0.04 X 7.2 m® 0.01
B T RC-40, t=10cm 0.60 X 3.6 m? 2.2
AR AS(13)
FEIRT t=3cm 0.60 X 3.6 m? 2.2
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2T WEEMHE(FR) 5

4 s M B R O A R
B (B ER)
FH R SR EHEHE 100A 11.60 X 12.20 141.52 | ke

§kAIFo 7| 14152 | ke
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